The Industrial Revolution in England

A. Circle the correct answer:

1. The Industrial Revolution began in England in the ... century:
a) 17 b) 18th

2. James Watt invented the ...
a) telegraph b) steam engine

3. Steam engine was used in ...
a) aviation b) transportation and factories

4. Small workshops disappeared, being replaced by...
a) factories b) multinational companies

5. The urban society was dominated by the ...
a) nobility b) bourgeoisie

6. The bourgeoisie ... in technology.
a) invested b) didn't invest

7. The workers were called...
a) slaves b) proletarians

8. The workers ... fo the big cities to work in the factories:
a) emigrated b) didn't emigrate

9. First, workers worked in ... conditions:
a) bad b) excellent

10 After conflicts and strikes, the workers managed to make the work day last ...
a) 8 hours b) less than 8 hours
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